(0 @) (rad)

.............................

105

10

Ratl

0.95!

2 3
TP n (PCA to beamline)

a(d cot(d))

10

Ratl

=
<

105

0.95!

T

2 3
TP n (PCA to beamline)

—=#— DQM_CKF_XiMinusPU_base
—— DQM_CKF_XiMinusPU_retrainOldFiles125_v2_prelimWPM_epoch2

=
5
2
=
>
x
> Lo
o
2
)

.............................

Ratio

2 3
TP n (PCA to beamline)

o p/p.)

.............................

Ratio

T2 3
TP n (PCA to beamline)

z

oo a,) (cm)

Ratio

.............................

2 3
TP n (PCA to beamline)



	Contents
	Page 1


